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Answer five questions, taking one from each Unit
UNIT-—I]

1. ia} Define set. Describe the  basic
operations on sets. 2+4=6

ib) If
A=lab}, B={st} and C={qa t x}
prove that

Ax(BN C)={AxB)n(AxC) 4
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rbrniirit:

(2)

(c) Solve : 5
x+6y—z=10
2x+3y+3z=17
3x—3y—2z=—9

2. (a) Explain different types of functions and
its applications. 6

(b) Construct a market demand schedule
and plot the demand curve for the

function x =10- 2p. 5
icl Solve for x - 4
j x*=k

() 3x>+7=10
(iii) x2 -9x+14=0

(iv) a“x* =2

UNIT—I11
3. (a) Write short notes on the foliowing :
2+2+2=6
(i) The axiom of closure
(ii) The axiom of identity

(ii) The inverse axiom

3~

i

{p) Prove the following : 2Va+2Y2=D
) Ya+rb= b+c, then a=Db
(i) If a+ p =0, then b=-a
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(3)

/c) Show that
(ah) = a b’

ifa#O,b#:O. 4

4. (a) Graphically explain the representation

of complex numbers. 7
tb) 1f
X iy = c+id
a+ib

prove that
_actbd

a’ + b2

fc) Solve the given complex conjugate 4

( 1,2)

UNIT— 111

fa) U a circle has the center (-5, 1} and
passes through the point (-4, ~3), what
is its radius? 4

tp) Find the equation of the straight in€

passing through the points (-3, 71 and

(-1, 5} Also find its slope and intercepts.
5+3+3=11
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(4)

6. (a) Define circle. Find the equation of circle
with centre (2, 7) and radius = 8. 2+5=7

(b) Define parabola. Find the vertex, focus
and directrix for the following parabola :
2+2+2+2=8

y=x2+4x

UNIT—IV
7. Find dy /dx : 5+5+5=15

(@) y=@x?+2x) (8x> +3x?)

8 +4x?
y:.— "
X

(b)

(c) y=02x2+2x+2)?

8. (a) The total cost of an output is given by
TC = g> -61g° +15g + 200
Find the following : 3+3=6
(i) The marginal cost
(iij The average cost
(bj Find the maximum and minimum value
of the following : 9

y=3x4 -10x3 +6x?% +5
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10.

24L

(bi State and
integration.

fal {iven a

(5)

UNIT—V

(a) Integrate the following : 343+3+3=12

explain the power rule of

consumer’s demand

O =60-2p) Find the consumers’

surplus when market price is P= 12. 7

ih; The marginal cost function for a certain

product is S

+ %< . Find the total cost and

average cost functions if the fixed cost is

50.
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